1, (2t=])] MY Xeach Zpts) Determine whether the statement
iz tue(T) ar falselF),

(10 1F flg) =1 for all ¥ and Lom flx) exists, then
—]

(20 If flg) iz continuous on [o.h] and is differentiable on (a.h),

Sl —flad .
T=f fﬂ:'

then there existz a number o= (ah) such that

03 1 fly) is continuous on [a.d], then there exists a number

c=(a.b)  zuch that f?fﬂ:]‘d&' = fleilh—al,

(4) There exstz a function f such thet Fle) =0, F 'lx) =<0, and
F e =0 for all x,

{5 }LEI:]L?— 1.

(1) (2] (3] (4) (3]

e ] 7 3 q 5 g 7 2 2
B4
I T T EEE T =hy LT ZE]
Bt o1
ar Z=O| AlgEH 2, Find the following limits,
©® LHO FHUYHE ZFELICH (1) (Bpts) Tim (1 —tameeczs.
© 0| HHS HUE D5 B2 GEHY HoA @ T M) -t
© el HSTT MAT| AESS I BHLICH S
(7 (Bpts) lim & TV
@ UL® 305 OlLf S SEELICH ey
@ 1Y SHE HUD D= SHO E0ES HoMg (3) (8pts) Lim fle),

©—tca

vih ene lﬂe;g: 2l = flg) = g for all @ =1,
_ _ 2
M) lim 2208 _ iy 2T emgmen
o U027 . T CAINAT
il'_-"E il'_-"E
Inz
(2) o= limg! Tios
oo
1
lng = lim{—22 ying = lim 102 = ln22memaDn
=+ 1+]-]1[I: =+ l
"
p=2
{3
C 10 —21 . ByT
lim——= lim flz) = lim——— (=43
L—+oo EE':'. :;'—.n:h:hf r—+oo 1.:'[13_1
[
lim llile—:".«_’l= 6, lim — Ve _ B
x¥—+oo 2 ¥—oo r—1
lim fle) = 6{Squeeze 220
—HoD
(1) (2 (3
&ns 1 2 5




3, (10pts) Evaluste wmetan ) - %ft-an_lw]'.

tal lr =g g =tala

Cod Eﬁl = 1 = L = L

aec’s  tan‘n+1 1+z®

coa (tan " k) =

1+z®
. Ly 1
ﬂh:':ta,n ) T+ 47

(12t coa“ltan™ %) + i(t&n_lm:‘ =0

4, (HEE MEYY (10ptz)  Find  the derivaﬁva{%} of the

function
= tanh— (i ) + goioe

el —1f - . 1 _ocogw
——tanh” laing) = ————cosr = ————aecr
ek l1—ainx Coa
fla) = i
Infiz) =ainz lnx

.ll: :' -

f{;;:r:l = cogw lne + LR
Fle) =% (coam Ing + S0r )

el : 1
ek, Ey= socr + % (roar lnx + e )
Ans, Ey=aec:1: + 4% (cpa g lng + s )

5§, {10ptz) Find the wolume of the solid obtsined by rotating the

region bounded by ¢=%-%* and y=0 about the line ¢ =23,

Efrll;lfﬁ —g e — "y = %?r

&g %’-"’
B, (10pts) Let Ff:ﬁ]'=frff¢]'d-t and ff¢}=‘fltﬁdﬂ-

Find & "[-1),

Flgl= g2 —flz)
Frlp) =g g® + 280 — )

.
= e
Fli—1l=ap1)+z2f11—f{—1)
=2 i =_42 —
flilll—a,fli 1] E,flilll 0
w2, F(—1)==

&g E—;
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7, (15pted Sketch the graph of fly)= ——.
I

O Daomain= PE2r

@f(—w)=—flx) : odd function

@lim —2—=0. lim —%—=0
a—roo I g—— oo 0
oz
@f":a::' = Ef—$= 0, o == 3fcrtical numbers)
i
w Pl — 27
®f )= o) =0, 2=0.£3v3

Z2HE = 92 A ERE,

local min : (—3.— %:‘, loca rnas ':i%:'

inflection points : (—3 \f'{E_-..— l_fj (3 ufﬁ—e.l—f:'

[ l"u
015 ||r'|ll
o |
006 - hsg

ol x\x |

Eal )

£0 40 E A b [l 10 A £ I 4

3, (15pt=) A steel pipe is being carmed down a hallway Zm wide,

At the end of the hall there iz & rght-angled tum into a
narrower hallway Zm wide, What iz the length of the longest
pipe that can be camied horzontally around the corner?

Let I be the length of the lme AC & poing from

wall o wall touching the inner comer O
As 8 — Dol = =, wehave L — o0 amd
there will be an angle that makes L & minimum,
A pipe of this §|_'|'|EI|I wilk Just fit aspaind the comer.
From the diagram, L = Ly + La = Jescd 4+ 2secd
=adlfdll = —descd optd 4 secll tand =)
il i & ) My 3 a : =
when Qaped and = Jesef cob @ & tan' =2 = 1.hes tanf = 15
. 3, 41T a yay — 25
[ensec” =14 (2] omd e H=1+1(3)
= longest pipe lengh L= 3{14 ()77 421+ (3)""|  =702m

Or, use # = tan”~ [ 4 1.5 | =085 = [ =3+ 2eocd = T.0%m.

fng 3 1_.-’1+(§2|‘2’3+2 _.-’1+E§II”3
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